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SCIENCE SAMPLE WORKBOOK

In which of these places bio-degradable waste is dumped and converted into organic
manure?
a. Rivers b. Ponds c.Lakes d.Pits

Vulcanization is a process which includesin:
a. The eruption of volcano b. Making of steel.
c. Making of rubber d. Making of glass

Water (H,0) and salt {NaCl) are what kind of chemicals?
a. Elements b.Compounds c. Mixtures d. Solutions

After boiling chickpea at home, mother removes excess water from the vessel.
What s this method called?

a. Decantation b. Filtration

c. Evaporation d. Hand picking

An example of reversible change is:
a.growth b. baking soda
c.inflation of a cycle tube d. rusting

Which one freezes in winter?
a. Petrol b.Naphthaleneball c.Coconutoil d. Kerocene

Plants take in and give out gases through:
a. Roots b.Stems
c. Microscopic pores on their leaves d. Special organs

Which one of these is not a waste from our body?
a. Faeces b. Saliva c.Urine d. Sweat

Which of these is a ball-and-socket joint?
a. Elbow b.Ankle c.Neck d.Shoulder

Choose theincorrect from the following.

a. The bones give our body a shape.

b. The skull protects the braininside it.

c. The bones helps us to move, bend, run, walk etc.

d. Allinvertebrates move with the help of bones and muscles
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Snail moves with the help of its:
a.Shell b.Bones ¢. Muscular foot d. Whole body
Goiter is cause by deficiency of the mineral.
a.lron b.lodine c. Calcium d. Potassium

Hair, nails, skin and muscles are made up mostly of:
a.Carbohydrates b. Fats c. Proteins d. Vitamins

Kilocalories and Calories are the unitto measure of the
a. Weight oftherice b. Quantity of milk
c. Energyinfooditems d. None of these

Which one is known as the universal solvent?
a.Vinegar b. Kerosene c. Ethyl alcohol d. Water

Shadows form because:

a.Opaque objectsreflects light.

b. Opaque objects do not allow light pass through them,
c. Light travels in one direction from a source.

d. Light bends around an opaque object.
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